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Evolution Unit Study Guide
· Vocabulary:
1. adaptation
2. analogous structure
3. allele

4. common descent
5. camouflage
6. convergent evolution
7. embryology
8. evolution
9. extinction

10. fitness
11. fossil
12. gene pool

13. genetic drift
14. inherited trait
15. homologous structure
16. macroevolution

17. microevolution

18. mimicry
19. mutation

20. natural selection

21. phenotype
22. predation

23. protective covering

24. sexual selection
25. variation

26. vestigial structure
27. warning coloration

· What is the basic idea of evolution?
· Dolphins and humans have different appearances and ways of life but share the same ancestors. What type of evolution does this show?
· Bats and birds have similar appearances ways of life but are descendants of different ancestors. What phenomenon does this show?
· The human embryo and all other vertebrate embryos have gill slits. What idea does this support?

· Which of these is an example of homologous structures?

A. the wing of a bird and the wing of an insect

B. the flipper of a whale and the arm of a human

C. the teeth of a grasshopper and the beak of a bird

· What is the key idea in natural selection?
A. live to an old age


A. maintain their environments 
B. live to reproduce


C. undergo new mutations
· Which best describes the fossil record?

A. Complete and clear

B. All organisms are represented

C. Totally incomprehensible
D. Incomplete and informative
· Ear aches are caused by a bacterial infection. Some bacteria can develop a resistance to the antibiotics used to kill them. For this to happen, what must be present?

A. nutrition

B. variation

C. a large number of bacteria

D. a wide variety of antibiotics

· What best explains how the ear ache bacteria can become resistant to the antibiotics? 

A. Overuse of antibiotics.

B. Underuse of antibiotics.

C. Exposure to solar radiation.

D. Exposure to sudden temperature change.

· Two mouse species live on opposite sides of the Eno River in Durham. One is brown and the other is tan. What is the most likely reason that the brown mice species produced the tan mice species across the River?

A. Brown mice crossbred with cream mice, which made a tan species.

B. The formation of the river separated the two populations of mice and created separate gene pools.

C. Temporal isolation and behavioral isolation caused the brown mice to separate into two colonies.

D. Brown and tan mice look and act differently, but genetically are the same.

· Carolina jessamine flowers have a long, tubular base with nectar at the bottom. Hawk moths have long tongues for gathering nectar. The flowers depend on the moth for pollination, while the moths depend on the flowers for nectar. Which type of evolution best represents this pair of organisms? 

· What factor is MOST important for the formation of a new species -- variation or overpopulation? Explain.
· Why are mutations considered a basis for evolution? Explain.
· Why do many plants produce fruits? Why is this a good (or bad) strategy?
· What does the vestigial pelvis/femur evidence suggest about the ancestors of whales?

· Does the fossil record show us a true picture of the variety of organisms that lived on Earth at a particular time?   Explain.





















